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= 419,400
== 209,700
o 209,700
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SEEEREEE
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= 190,203
[ 95,102
T 95,102
OAIZIAZEANE EF AL N
90,269,000 *1IH 2 90,269
= 45,135
< 22,567
s 22,567
oelold 28X 68,820 72,800 23,980
= 34,410
== 17,205
= 17,205
307 lztol & 68,820 72,800 A3,980
= 34,410
== 17,205
o 17,205
11 AMRISXAEEES 68,820 72,800 A3,980
O w=H] 7,088,000 12 7,088
= 3,544
=S 1,772
s 1,772
Oxtgr2gl 2,114,880 «25CH 52,872
= 26,436
= 13,218
o 13,218
OsoHELMHA00lE
2,215,000& x40H 2 8,800
= 4,430
s 2,215
s 2,215
AR0tES2 XA (LX) 1,607,079 1,907,605 300,526
= 1,044,601
=S 281,239
s 281,239
307 21201 & 1,607,079 1,907,605 A300,526
= 1,044,601
= 281,239
[Ea 281,239
05 212t =S 1,607,079 0 1,607,079
Og=ot 255 XN&E
133,923,250 * 1204 1,607,079
= 1,044,601
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< 85,548
= 85,548
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= 171,096
== 85,548
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S WAFKI 2 2,119,450 100 211,945
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ORAIZERA XY 806, 75021 #4% 3,307
2 1,653
< 827
2 827
OSEESDA SEaf4d
1,269,400& 100 126,940
= 63,470
=S 31,735
s 31,735
SXWAF X& 224,516 0 224,516
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=S 56,129
s 56,129
307 21201 & 224,516 0 224,516
= 112,258
= 56,129
Ea 56,129
1 AMISXAEEXS 224,516 0 224,516
SXZWA X 18,709,666 * 1291 & 224,516
= 112,258
= 56,129
= 56,129
SERLIHYEHEZE XA 1,800 1,200 600
= 900
= 450
= 450
301 EtE N = 1,800 1,200 600
= 900
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SN Bol#=I)
Hu: Lol 9 HAW =XEZ
gelr LoIsXsd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
202 04l 4,000 1,000 3,000
01 2LHoIH 4,000 1,000 3,000
OLQI=N 2 NRAN S
100,000 5 & *43] 2,000
OLoI=N E8 YREM S
20,0002 *4H*5 2 +53] 2,000
203 gF=4| 5,000 5,000
03 A=A 2= 5,000 5,000
OLoI=X 2 g =&
5,000,000& 5,000
206 M=l 5,000 5,000
01 MZH| 5,000 5,000
OM2 ¥Fstl Z23 e+
5,000,000& 14 5,000
301 EtE NS 500 500
11 AALAHIXIES 500 500
OZ2AE XAt & =20 AE25tu=
500,000 12 500
307 glztol & 400,501 408,676 A8,175
04 CIZHHAMAIH 2 & 7,000 5,000 2,000
OUtsAE =& 7,000,000 *12] 7,000
1 AMEISXAIEEXS 393,501 403,676 10,175
OdZAg X2IAL 128l X
1,807, 3002116264 B 173,501
OFzAY 2RI NA(FI
5,500 160 x250&! 220,000
J2AE REs4 X3 508,729 324,000 184,729
Jl 152,619
o 356,110
307 el2tol & 508,729 324,000 184,729
) 152,619
o 366,110
1 AMEISXAIEEXS 508,729 324,000 184,729
OZ=Z24g FEaAHl
508,729,000 12 508,729
Jl 152,619
[Ea 366,110
COIOI=EXAE (BRY) £X2d 1,353,628 1,212,320 141,308
201 er23 | 86,408 76,020 10,388
01 At2teltl 24,408 24,408 0
Oget+=ZHI 24,408
-22Y SEAYIA(HY)
72,0003 %3390 A+12] 24,408
02 s3=ghl 62,000 51,612 10,388
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O8&82= £ HA 25,000
-B2Y MALEI 25,000,0002 %13 25,000
OAIE2ZBI= X 37,000
-Z22¢ 4| |2
150,000 *1009H 2 15,000
229 SJ183J| RA2L
110,000 #2004 2 22,000
301 EtE2 NS 60,820 49,600 11,220
03 A2 H A0S (XIS THH) 60,820 0 60,820
Oy HEAR(2I)
62,000 »800% 49,600
OZ2g a4 aoasH N
16,5003 %340 =22] 11,220
307 @12t0| & 866,400 861,700 4,700
11 AMEISXAEEXS 866,400 861,700 4,700
Oolund 2gH(Zd, =, HA)
24,500,000 *30H 2 73,500
O=3d2Y 2gHI(Z0H)
100,000& x 11 A+ 1200 2 13,200
OB2Y 2A|
150,000 32200 A +90H & 434,700
OZ=zg 43 Z2IY 29
1,600, 0002 *2000H 2 320,000
OZ2Y =3 Z208 MgaelX AI(
=Ih 25,000,000 *1 25,000
401 Al HIZL S 0HYI 250,000 175,000 75,000
01 Al&HI 248,250 173,775 74,475
OltsZ=2g 23t
3,000,000 *507H 2=*99. 3% 148,950
OltsZ=¢ aU 2084 EXAY
10,000, 0002 *57H %99 3% 49,650
Olt=3 =g SaXls XA
10,000, 0002 54 299, 3% 49,650
03 A2 CHYI 1,750 1,225 525
OltsZ=2g 23t
3,000, 0002 *507H 20 7% 1,050
OlI=Z32¢Y 2l &4 X At
10,000, 0002 *5IH 20 7% 350
Olt=3 g SaXs XA
10,000, 0002 *5IH 2%0. 7% 350
402 QI”F X201 & 90,000 50,000 40,000
01 QI X2 AL E R (KEMITHE) 90,000 50,000 40,000
Olt=dz¢g 4.4 £X
1,500,000 *200H 2= 30,000
ongzRg HIl 7Y
2,000,000 *30IH £ 60,000
ZJ2¢ 2| X2 (ZX) 486,633 520,520 A33,887
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Ofl &F2H

MEE
Ofl &k2h

A H

97,327
389,306

307 212t01™

M H

486,633
97,327
389,306

520,520

A33,887

486,633,000& %12

M

486,633

486,633
97,327
389,306

520,520

N33,887

Mo W

744,854
361,962
114,868
268,024

737,858

6,99

Mo W

132,899
66,450
19,935
46,514

129,458

3,441

132,899,000& *12

MW

132,899

132,899
66,450
19,935
46,514

129,458

3,441

307 212+01™

MW

611,955
295,512

94,933
221,510

3,555

523,025,000& %12

OZEY Yyl N

0!

100,000 *3400H A %200 2

O
0
HU
0
o
rn
o
2
0p
il
pall

oy X2

23,0002 910

MW Mo W

M

611,955

523,025
261,512

78,454
183,059

68,000
34,000
10,200
23,800

20,930
6,279
14,651

608,400

3,555

34,190

29,39

4,791
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&l LoIsXEN (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 6,838
s 27,352
307 lztol & 34,190 29,39 4,791
= 6,838
= 27,352
11 AMEISXAIEEXS 34,190 29,39 4,791
Oy wzmzO 2eIX oY
34,190,000 x 1 34,190
=S 6,838
s 27,352
d2Y tHeE 2TAIE EX 132,000 42,000 90,000
< 39,600
= 92,400
402 QI2F X201 & 132,000 42,000 90,000
= 39,600
= 92,400
02 QI 2 AL E X (0IETHR) 132,000 42,000 90,000
OF2L EHYZLHAIL &% (3w)
7,500,000 +8IH 2= 60,000
= 18,000
o 42,000
OZ2Y HHSZLTAIE EXI(5kw)
12,000,000 6K 2 72,000
& 21,600
= 50,400
AzZ=0l3 2435 X2 38,879 34,375 4,504
= 9,720
[Ea 29,159
307 gl2to| & 38,879 34,375 4,504
=S 9,720
s 29,159
1 AMISXAIEE X 38,879 34,375 4,504
OAZ 013 2435t A3 At
38,879,000 * 11 2 38,879
< 9,720
= 29,159
olg| gast XI&(KHA) 163,812 169,358 4,454
307 elztol & 163,812 169,358 4,454
03 PIHHEE 22X 92,812 90,758 2,004
OZa=Ala 2128 X2 61,412
-AR2E 20
2,415,000« 1E* 1204 2 28,980
-AE=E EANES
2,415,000& x1H 2,415
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&l LoIsXEN (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
E22E 20
2,309,000« 1H* 1200 & 27,708
EeRF g3
2,309,000& 1 2,309
OZ&=X3 428z K&
250,000 x2S * 12042 6.000
OH&=Xa gdat X3
700,000& x1&* 1200 & 8,400
OZd=ZAa 2gHl Xz
4,250,000 #4271 17,000
04 QIZIHAIAIH E X 13,000 13,000 0
OZdzZelg&I] Jet2E =23
5,000,000& 12} 5,000
OZXFEI| &2
4,000,000& *12] 4,000
OZ&Zat ¥ =I5 &T| Q&0 el
4,000,0002!+13] 4,000
11 AMRISXAEEES 58,000 55,600 2,400
O XNASAR =S X
300,000 14129 2 50,400
OZAZA3 St (E === O
&) 1,600,000& %12 1,600
OZAZXE BHAZ X3 A
5,0002 1005+ 1204 = 6,000
AlLIGIEEH 29 X~ 5,000 5,000 0
& 1,500
= 3,500
307 glztol & 5,000 5,000 0
= 1,500
o 3,500
11 AMEISXAIEEXS 5,000 5,000 0
OAlLIcigde =29 X3
5,000,000 * 10 2= 5,000
=S 1,500
s 3,500
sOE s5=58 28 & 60,000 60,000 0
< 15,000
T 45,000
307 glztol & 60,000 60,000 0
= 15,000
= 45,000
1 AMEISXAIEEES 60,000 60,000 0
O0BE25E =2y
20,000,000 *3JH 2 60,000
= 15,000
o 45,000
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& Lol
L
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=aak

SA - ZE . BR(8) - HRAR - BES of v e HIDE2

S0E SE5=328 HEs NE 48,000 18,000 30,000
= 5,400
= 42,600

401 AIEHIX S0 48,000 18,000 30,000
= 5,400
[Ea 42,600

01 A28l 48,000 18,000 30,000

OUFE g222% AlLPL

18,000,000 * 104 2 18,000
== 5,400
[Ea 12,600

OsHESS=SE =9 Jdl MY

30,000,000& 13 30,000
FHEE LAY 76,000 76,000
401 AlZHIZ S 0HHI 76,000 76,000
01 AlZHI 75,468 75,468
O34 FHEZ ML A
3,800,000 *200H 2~+99. 3% 75,468
03 A& S CHYI 532 532 0
OES0HZA FHESZIMEAY
3,800, 0003 *207H 2=+0. 7% 532
LoIEXAE 2 I EXNSH 297,700 126,200 171,500
201 L2 8,100 8,100 0
01 AtR22telbl 2,100 2,100 0
Oo2g+e 2,100

~EIQUDBE AARIRISE Qeisg
70,0002 x5 +63] 2,100
03 BAL2H| 6,000 6,000 0
OLQISTIAIL L J|2 SAHK 2225t
g 50,0002 * 1202 6,000
202 OiH| 3,000 0 3,000
03 22 A R0iH| 3,000 0 3,000
OAMBIEXIAIE ZAKF 29 HRIX|28 ol
E 1,500,0002 x2% 3,000
301 YptaEEZ 57,600 5,100 52,500
02 A BRE A 2(FAANS, XLHH) 1,500 0 1,500
OLQI=ZTAIA 22 1875002 %87 & 1,500
08 QI2+OI=2 Q| (4] 52,500 0 52,500
OMBIZXIAIE SAL 29 HEIX| At
1,500,0002 *35% 52,500
11 SHAFAHIXIR2 3,600 3,600 0
OLQIZXAIA L I SAKG 2225t
= 200,000 183 3,600

307 212+01™ 229,000 13,000 216,000
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Mo Lol U HAW =XEH
&l LoIsXEN (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 2IHBHAIHE £ 2,000 2,000 0
O SXNSTAY X
2,000,000& %12 2,000
04 QIHHAIAIH 2 £ 8,000 8,000 0
OHMi2al 282 QTES AL € A
8,000,000& 12 8,000
11 AMRISXAEEES 219,000 3,000 216,000
COISTAE THASAEds 2282
g 333,333 *90H A 3,000
OFINLA MM (ISR
A, THHEII22I(2)
30,0002 x600& * 1201 2 216,000
dZAE 28 NE 768,177 601,441 166,736
=S 606,860
s 161,317
307 21201 & 768,177 601,441 166,736
< 606,860
[Ea 161,317
10 Al2IS XA EEE 22X 768,177 601,441 166,736
OgzAle 2g8X2
768,177,0003 10 £ 768,177
= 606,860
= 161,317
LZAE SMIL EESE 18,720 14,400 4,320
=S 5,616
s 13,104
307 @12t01 & 18,720 14,400 4,320
== 5,616
[Ea 13,104
11 AMEISXAEEES 18,720 14,400 4,320
OAZAIE BAKL SE£E
04,0003 x 15120 18,720
= 5,616
= 13,104
LZAIE EHl, EHFAH XS 1,050 1,016 4
= 420
o 630
307 @120l & 1,050 1,016 34
== 420
o 630
11 AMRISXAEEES 1,050 1,016 4
O ZAIE Z&H|, EAH=AH X
35,0002 *30& 1,050
= 420
= 630
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Mo Lol U HAW =XEH
&l LoIsXEN (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
COIMEAE 2| 1,403,123 1,038,814 364,309
= 420,937
= 982,186
301 EtE N = 1,403,123 1,038,814 364,309
= 420,937
[Ea 982,186
03 A2 H A0S (XIS THH) 1,403,123 0 1,403,123
OANEEN LIIQAEE & RE= A
el 21,586,507 ~65& 1,403,123
== 420,937
[Ea 982,186
COIMEAIE 2HAH| 16,425 15,878 547
= 4,928
= 11,497
307 elztol & 16,425 15,878 547
= 4,928
Ea 11,497
1 AMISXAIEEXS 16,425 15,878 547
LOISXIAIE 2HAHI
1,500 %303 *3652! 16,425
== 4,928
o 11,497
COIQRAAIE SAA SEH 68,400 66,600 1,800
= 20,520
= 47,880
307 elztol & 68,400 66,600 1,800
= 20,520
Ea 47,880
1 AMEISXAIEEXS 68,400 66,600 1,800
OLQQAAIE SAHA S8+
50,0002« 1141204 & 68,400
== 20,520
o 47,880
MIt=QIEXIAIE 249 I 2,101,691 2,229,729 128,038
== 420,338
= 1,681,353
301 LEtE N = 2,101,691 2,229,729 128,038
= 420,338
[Ea 1,681,353
02 A2 XSG (FHAAHS, NSWE) 68,173 0 68,173
Oss2 =gl Xd
5,681,0832 12 68,173
s 13,634
s 54,539
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CHel: LOI= S (el @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 AR 2EHFS(XILH) 2,033,518 0 2,033,518
OFIIQYRE 22U N2
13,378,407« 1524 2,033,518
= 406,704
Ea 1,626,814
CLolstEsdE T2 X 31,500 0 31,500
== 18,900
o 12,600
307 212+01& 31,500 0 31,500
< 18,900
T 12,600
11 AMEISXAEEE 31,500 0 31,500
OLQIFESHH 2203 XI&
4,500,000 79K 2= 31,500
= 18,900
Ea 12,600
coIE=ssdH AE 197,082 186,010 11,072
307 212+01& 197,082 186,010 11,072
11 AMISXIAIEEX 197,082 186,010 11,072
OIS E (S8, 83)AHIA SA Sl
9,700 %153+ 12042 17,810
OLREF(S858,82) AL SALR W SH
52,0002« 1531200 & 95,472
OIS E (S8, 82)MHIA SAL S
50,0002 =20+ 1204 12,000
OQIE (=55, 82)MHIA SAL A&
20,000,000 13l 20,000
OLoltEsssHE AAHI(HMEZF)
3,500,000« 1H* 1200 & 42,000
OLQIAESSMUIA BSAKHAIZIZXIAL,
SE2¥) YEFOHI
50,0003 20 #22 2,000
OLQIXESESMUIA BSAIXHMSXI A}
HE S| 30,0002 *130E <22 7,800
COISESSAHIA 3,146,690 2,754,440 392,250
= 2,202,683
== 283,202
o 660,805
307 212+01& 3,146,690 2,754,440 392,250
= 2,202,683
= 283,202
o 660,805
1 AMISXAIEEX 3,146,690 2,754,440 392,250
OLoXE=SAHIA
3,146,690,0002 10 A 3,146,690
= 2,202,683
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Ofl &F2H

MEE
Ofl &k2h

A H

283,202
660,805

HoH W

500,59%
250,298

75,090
175,208

503,609

A3,013

307 212t01™

HH W

500,5%
250,298

75,090
175,208

503,609

A3,013

11 Al S XA

)
OosH & = TOFR OLAl A H|

= 500,596, 0002 *17H A

ES
=
=

ojel s

a4

HH W

500,5%

500,59
250,298

75,090
175,208

503,609

A3,013

A H

56,500
14,125
42,375

31,388

25,112

307 212told

M

56,500
14,125
42,375

31,388

25,112

94,1663 50120 3

Mo

56,500

56,500
14,125
42,375

31,388

25,112

M H

5,000
1,500
3,500

6,200

21,200

M H

5,000
1,500
3,500

6,200

21,200

200,000& »25H

M

5,000

5,000
1,500
3,500

5,000

A H

32,400
9,720
22,680

32,400

M H

32,400
9,720
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32,400
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03 AL 2 EH 263 (XL E) 32,400 0 32,400
Oo2dl X0l 2% X
30,0002 <00 1201 & 32,400
= 9,720
Ea 22,680
EZANE 24 A 169,584 150,202 19,382
307 21201 & 169,584 150,202 19,382
11 ARRIS XA E X 169,584 180,202 19,382
O0ls ==xtg A5 24|
65,0002 =20 * 12042 15,600
OB0MIOIS SHLO Malah Xted=eld|
250,000 %90 22,500
OEZAtE H28 a2 At
30,0003 +650H 19,500
OEZAME 24! HRE AT
120& 2,070 x260H 64,584
O2Z2AH= EAHZ24 LB BHE A
10,0002 x45& #6525 23,400
OSHLQ! HIIAL HERIR
500,000 *30 Al TH 15,000
O0Z4l etEXIZ0l At
30,0003 x25AI CH* 1290 2 9,000
J=e3 K= (42Xl 38,838,603 36,155,974 3,682,629
= 35,202,220
< 786,124
[Ea 2,850,259
301 2eEN= 38,838,603 36,155,974 3,682,629
= 35,202,220
=S 786,124
s 2,850,259
01 Al EE A S(FRNEXM) 38,838,603 36,155,974 3,682,629
OFJESI=INI, 38,838,603,000& 12 38,838,603
= 35,202,220
= 786,124
o 2,850,259
colEe 248 Xd 5,400 5,400 0
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= 8,183
Ea 46,369
1 AMEISXAIEEXS 54,552 41,964 12,588
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=S 113,400
s 453,600
XS 0ts8E 242201 K& 24,840 24,000 840
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OXSotsHE SAE20 N
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